Parallelograms

Geometry KEY
Find the measure of each angle.
1Y) 2 I
) 8° 90° 90°
[¢]
109 9()° 90°
71° 109° ANL2° ]
B
50°
F 7)
4x +20 U T
116° 9x - 32 130
64° 130& 7x + 4 / 120° 60
64° 607 5x - 10 9x - 6
6X — H o
4x +20=6x -2 OX-32=Tx*+4  5x-10+9x-6=180  10x+2+17x-11=180
4x 4x “Ix -7x 14x -16 = 180 27x -9 =180
20=2x-2 2x-32=4 +16_+16 9 49
) i 3 14x = 196 27x = 189
22=2x 2x=36 14 14 277 27
2 2 2 2 x=14 x=7
11=x x=18
Find the perimeter of each parallelogram.
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Find the length of the sides of each parallelogram.
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